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1.Which statement describes a bridge domain as it relates to the Cisco ACI?
A. Separates tenants

B. A separate routing instance

C. A container for IP subnets

D. A container for end points

Answer: B

2.Which type of links connect the spines and leafs?

A. 40GE

B. 1GE

C. 10GE

D. 100GE

Answer: C

Explanation:
http://thenetworksurgeon.com/cisco-spine-and-leaf-architecture-discussion-nexus5500-vs-6001/

3.Which two functions are provided by the Cisco Application Policy Infrastructure Controller? (Choose
two.)

A. Telemetry data for fabric operations

B. Policy repository

C. Distributed management plane

D. Control plane forwarding

E. Data plane forwarding

Answer: B,E

Explanation:
http://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/unifiedfabric/white-paper-c11-
730021.html

4 .Which three challenges can the Cisco ACI integration of Layer 4 to Layer 7 services help a customer
solve? (Choose three.)

A. Operational challenge of waiting on specialized administrators to configure individual devices

B. Limited device features

C. Chain of network services that includes multiple vendors

D. Costly and error-prone change control

E. Politics within an IT management organization

Answer: A,D

5.What is the function of the OpFlex protocol policy element?
A. Stores statistical information

B. Learns and knows every device in the network

C. Resolves policy and configures network hardware/software
D. Captures and stores the user intent in policy

E. Limits device features

Answer: D
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Explanation: http://blogs.cisco.com/tag/opflex/
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